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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory. |

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate whicl
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the spac
provided. No marks will be given for answers written in a medium other than th
authorized one.

Answers to questions no. 1 to 10 should be in 150 words, whereas answers &t
questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must bl
clearly struck off. .
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Q3.

Q4.

Q5.

Q6.

Q7.

Y 39 forem =i, foh qeashiel fepmmedia e i Scpsedt i &R 918 % a9 §

Trara g & 2, fore R wE fag &8 2 (150 vis)

How do you justify the view that the level of excellence of the Gupta
numismatic art is not at all noticeable in later times ? (150 words)

gErse <hifo foh Aeg-srangel el w1 wia faefed Toada 6 orn @ fhg woR
e ot | (150 ¥1sg)

Clarify how mid-eighteenth century India was beset with the spectre of a
fragmented polity. (150 words)

F1 HRO o7 fob STl yared & ofq T d-A e o Hift e
T UsHIfas agdt o Sfd g o faveame S ¥ s1E%a 8 T S 2 (150 vse)

Why did the ‘Moderates’ fail to carry conviction with the nation about
their proclaimed ideology and political goals by the end of the nineteenth
century ? (150 words)

Td TG H IUHARH IVe Weh H afufed wen-an gwend of 2 (150 358)
What problems were germane to the decolonization process in the Malay
Peninsula ? (150 words)

e 1 S e geft st wd fawe B wwem # R wer wEEer
2 ? (150 3155

How does the Juno Mission of NASA help to understand the origin and
evolution of the Earth ? (150 words) :

“gidepet wHieuliE wTE % STESE, HRE @ fawE % fau onft off safer ® 17
fod=m i | (150 wsq)

“In spite of adverse environmental impact, coal mining is still inevitable for
development.” Discuss. (150 words)

T 1 % il 1 s ifi frdh w1 gE T % g a9 2016

IS cete oy =ifia feem T o | (150 wse)

Mention the advantages of the cultivation of pulses because of which the year
2016 was declared as the International Year of Pulses by the United
Nations. (150 words)
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Q8. TEHT-AeT (FRITHN) aftas ey ! frm s wwifad =t 8 2 (150 752)
How does the cryosphere affect global climate ? (150 words) 1

Q9. Wrd H fafeear & @M #, T I8 Fa1 S weha1 ® 6 UsA 1 ervem wew wivwlow
FHEAN I FY TGH L 8 ? 39 gRehv & I Sergwi wfgd Hror 9ase | (150 768)

In the context of the diversity of India, can it be said that the regions form
cultural units rather than the States ? Give reasons with examples for your
viewpoint. (150 words) 1

Q10. m%m'aggﬁﬁwﬁﬁ(wﬁ.)%qﬁﬁmﬁgm%%q,mm
=1 T3 & g Taftes vaet @ € 2 (150 W)

What are the two major legal initiatives by the State since Independence,
addressing discrimination against Scheduled Tribes (STs) ? (150 words) 1

Ql1. HEWAT & Y9 it WeHT 7 haw AT I G99 ¥ § WRAT g 1 T U9
Afrere @ ?, ifig adum § of u% v wewgl e f @ 2 | afear T
$IfSTT | (250 w158

The spirit of tolerance and love is not only an interesting feature of Indian
society from very early times, but it is also playing an important part at the
present. Elaborate. (250 words) 1

Q2. T SR 5 ATRARE wra § o =0T 6 3 v 3 R s awdh
STfeaTeT Sl I =1 fe I | (250 w2

Examine how the decline of traditional artisanal industry in colonial India
crippled the rural economy. (250 words) 1

Q13. fioch vl & FiT que ¥ Widg @ 1 @Wo 3R & @19 gg 8 T AU
3l o HE Wl IATR KR | (250 we2)

Highlight the importance of the new objectives that got added to the vision of
Indian independence since the twenties of the last century. (250 words) b/

Q14. TEEFRIA <eord H fof=rdisti o HRO Fq15T qo $6eh Sg-3AHE gurEl i T
shifsT | (250 915g)

Account for variations in oceanic salinity and discuss its multi-dimensional
effects. (250 words) I
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216.

317,

318.

219.

320.

Yoiferem FwrEATEt Tevas &9 W el do 3cAIeh &6l o HHIY SEfeud Tl g,
Tordreent aes foermasier 2ol # | s&es fAfganert ot Tase Hife | (250 91s5)

Petroleum refineries are not necessarily located nearer to crude oil producing
areas, particularly in many of the developing countries. Explain its
implications. (250 words)

wra o WGl W g % oft weft Hem § sradsfia FeEe % Uk 9w da |
fore e wftafeda fomam St wehat 8 2 (250 15Q)

In what way can floods be converted into a sustainable source of irrigation and
all-weather inland navigation in India ? (250 words)

g TRE H Y Al GER 50 Tiwa ¥ 1fieh SHEE % WRO-Nwe § qhd
TG ey i e gugelia e 5 ' 3 2 (250 ])

What characteristics can be assigned to monsoon climate that succeeds in
feeding more than 50 percent of the world population residing in Monsoon
Asia ? (250 words) '

Ty wita o, Afgernet & deftm g 199 waTed) % WHINER AR e & Wi
& w71 33 & | 37 sty o Afgernedt ¥ gug gew g R fGag w0 9 2 (250 wis1)
The women’s questions arose in modern India as a part of the 190 century
social reform movement. What were the major issues and debates concerning
women in that period ? (250 words)

Tods WG § onfifehdr foRw WehR WTEEIRERAT H ®WARG ® TR, FERT TH e
A LA §U HTHehAT Td HIEIGTERT o Hed fawe shifsie | (250 ¥155)

Distinguish between religiousness/religiqsity and communalism giving one
example of how the former has got transformed into the latter in independent
India. (250 words)

“ger SeNfieht FE % w9 § wR H wgfg T IR F U AT G fQu €, w7y a9

# 73 gae| oft Yo L @ § 17 Screwn |fgd 39 e 6l gite T | (250 %)

“The growth of cities as I.T. hubs has opened up new avenues of employment,
but has also created new problems.” Substantiate this statement with
examples. (250 words)
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